QUESTION PAPER (TERM - I) (2022-23)
CLASS - +2
SUBJECT - POLITICAL SCIENCE

Time : 3 hours

M.M. : 50

1.

TdrerTelt TerEWe 37U ISR W A IR |
Candidates are required to give answers in their
own words as for as practicable.

2. UHE G & 3k 3T 9 fqu g

Marks alloted to each question as indicated against
it.

fogre fden:- Special Instructions

1.

[t g9 stfemd © 1

All questions are compulsory.

. 37k 9T U9 o S foeheq ® fog |

Choose the correct answer given below in each
question of 3 mark.

. 2 3Rl a1 U o AL I 40-45 1 H 2 |

Answers of 2 marks questions should be between
40—-45 words.

3 37! Tt T9HT o I 60-75 TRl B T |
Answers of 3 marks questions should be between
60—75 words.

. 5 3fehl a1 YT o A AT 150-180 Wl H T |

Answers of 5 marks questions should be between
150—-180 words.

. 6 3ThI AT YIS Ia¥ T 210-230 V&) | < |

Answer of 6 marks questions should be between
210-230 words.

WrT-<h (Part-A)

&3 Uv= W:- Objective type questions:-

1.

2.

U9 1% 10 W ¥ Fafafera Ueie U9 T 3k ol
¥ | MUl 9IR faehey e 1 ® ¥ | 99 9 et U@
& T 1T | et faswen ot fod |

Questions 1 contains 10 parts. Each of the
following questions is of 1 mark.You are given
four options, only one of which is correct. Write
the correct option among these.

. YRA % YU g Tl HiF 972
(F) 9. ’E (@) <. TR
(1) HETCH el () WER 9
Who was the first Home Minister of India?
(@) Pt.Nehru (b) Dr. Ambedkar
(c) Mahatma Gandhi (d) Sardar Patel
ST AT el Tifed feham T en?
(%) S 1949 (@) ¥4 1952
(M) =TT 1971 (%) == 1950



When was planning commission set up?

(@) January 1949 (b) March 1952

(c) April 1971 (d) March 1950
3. Y Y9autd ATl S & hi T2

(F) 1951 (@) 1955

(1) 1960 (°) 1972

In which year first five year plan was started?

(a) 1951 (b) 1955

() 1960 (d) 1972
4. Tomen gwgitan forg a9 gat?

() 1972 (@) 1973

() 1971 (") 1975

In which year shimla agreement took place?

(@) 1972 (b) 1973
(c) 1971 (d) 1975
5. Tepmiea Y@ R <1 39 % " ffved o T ef?
(%) 9RA-TH (@) 9d-=
(M) =H-Td (F) ARG-saRa
Mohan line was determined between which
countries?
(@) India—Pak (b) India—China

(c) China—Russia (d) India—Bangladesh

. O, 98% & TSHIfdeh SAUTEEhRT i 97

(%) sf=a e (@) T SRIgL ImEt
(1) STTSieE T (%) HARR St 4R
Who was the Political successor of Pt. Nehru?
(@) Indira Gandhi

(b) Lal Bahadur Shastri

(c) Jagjivan Ram

(D) Morarji Desai

. eI ht T fohe 9 H g3 |
() 1945 (@) 1947
() 1949 () 1955

In which year NATO was established?

(@) 1945 (b) 1947
(c) 1949 (d) 1955
. ifaeda 99 =1 faues fvg ad gat o |
(h) 1985 (@) 1995
(M) 1998 () 1991

Disintegration of the Soviet union took place in which

year?
(@) 1985 (b) 1995
(c) 1998 (d) 1991



10.

. STfEEA =t T fohe ad gg?

() 1962 (@) 1977
(1) 1980

In which year ASEAN was established?

() 199

(@) 1962 (b) 1977
(c) 1980 (d) 1991
AT FE H R T

() 7 (@) a1
(1) ETel (F) w9

The currency of European union is:-

(@) Euro (b) Yuan
(c) Dollar (d) Rupee 1x10=10
. ShIcTH 31 T hic™ o 9 3fad fiet &i:-
HICTH 37 HiH o
. Hifq s ==
. T THEES Hehe 1954
. Gl gR &I Hifd 1962
EENIK] 1978
. T o 2015

—

w ok~ WD

Match the items Column A and B:-

. Niti Ayog China
Cuban Missile Crises 1954
Open door policy 1962
Panchsheel 1978
Sickman of Asia 2015 1x5=5
FrAfefaa TersT &t & Ydek ufeu o Ty o 3t
¥ feu 7@ wvHl ok 3R i -

IR W9 26 St 1950 1 GHE H ST 9
G o s TeRa=l 1 SO T | ST S0
TITYAT SFERT 1950 H i T8 3R YHAR T YR & JorH
& A9 ST 9 |
T 9 946 1952 H g3, T4 Shierd o wew 7
{3 HET T ATk IH THT A H 1732 S Hagwa 9 |
T T 1 HEAT 489 oft 3R 3200 & Ha faem qwrsit
Y faurers 9| I8 938 Aaeaistl g1 U 958 I &9
% TR WM YTH €9 0 g4 oM o1 3 @ § Ah
MY R FHET T YUHSH FAE AW h
o wffea foran o | 9% 9Ame T e R siffaa <
T Teha— ol Te ST JAT o | 3 Sog ¥ 1952 & JoH
3T 16 Sl Gl fowd o Sliehdifaeh 3fasrd s T
%1 T el T | I8 R o folt we 3uaifed off |

. YR Gy ha 99 9 T2
. A9 3TN i T fhg ad @t 18?2



3. YRA & 99 A YK DI &2

4. 9IH AW G | foha HagmEr |
5. FYH 3TH A | Ak 991 & Fd foha FiEg 9|

Read the following Passage carefully and
answer the questions given at the end of the
passage:-

India constitution came into effect on 26 January, 1950

Under the constitution democracy was established

in India. The election comission was set up

in Jan 1950 and Sh. Sukmar sen was the first Chief
election General elections were held in 1952.
Which was, called as the biggest gamble in History,
because there were more than 1732 crore voters.
The strength of the Lok Sabha was 489 and about
3200 MLAs of all the legislative Assembties of
India. These members were to be directly elected
by the voters on the basis of 'Single member
constituencies". More than 3 lakh officers and staff
were trained to conduct the first General election.
This election was also the first big test of

democracy in 9 poor and illitrate country. that's why the first election of

1952 was know asGrand landmark in the history of democracy in the

whole world. It was really a great achievement
for India.

1. When did constitution of Indian come into
effect?

2. In which year election commission was set
up?

3.  Who was the first Chief election commission?
India.

4. How many voters were there in first General

Election?
were
5. How many MPs*there in Lok Sabha during
first General election India. 1x5=5

- (Part-B)

. TR W gfira e foag |

Which a short note on Panchuheel.

. IR faursH & ) R fad |

Write two causes of the Partition of India.

. Tafga stefeqeren 9 auent o AfYY™ §2

What do you mean by Mixed Economy?

. 3T U, TR OE E R ST €2

What is meant by "Aaya Ram Gaya Ram"? 2x4=8

. g fmtor o guet foh=gl o gAtaa o1 v o |

Describe any three challenges to Nation Building.

. et o 9 st9eRt s SAfagTT §2?

What do you mean by Privy Purse? 2x3=6



10. ¥ T5 % FRON 1 freamyds oo &Y |

11.

12.

Write in detail the main causes of Cold war.

T YaEd 9 = AN €2 T gEad & BRON A
U A |

What is Unipolarity? Discuss the causes of
Unipolarity.

a0
Teh YAl o Al 1 9o
Disscuss the main merits of Unipolarity. 2x5=10

fedta forga < forse & RO <1 G0 L |

Describe the causes of disintegation of second
world.

a0
TRG-&F r=4] T 0 T |

Discuss the Indo-Russia Relations. 1x6=6



